## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 10, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0600-1341-535-4)

Antonacci, Abigail	Mccord, Sarah
Divjak, Leann	Nolting, Jenny
Hood, Heidi	Vogel, Carolyn

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 11, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0600-1341-535-4)

Antonacci, Abigail	Lochbaum, Stacey
Bland, Rachel	Mccord, Sarah
Divjak, Leann	Nolting, Jenny

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JANUARY 8, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0600-1341-535-4)

> Antonacci, Abigail Bland, Rachel Bland, Steven Divjak, Leann Hood, Heidi

Ligon, Tierra Lochbaum, Stacey Nolting, Jenny Vogel, Carolyn

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES JANUARY 18, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT ACTIVITIES JANUARY 11, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

> Barnes, Stacey Blankenship, Autumn Booth, Dione Law, Jordan

Pochynok, Jason Schnake, Christine Sheraden, Catherine Womble, Ashley VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES JANUARY 10, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Johnson, Kassandra

Joyner, Abbie

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES JANUARY 4, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES JANUARY 2, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Johnson, Kassandra

Joyner, Abbie

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 18, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

> Blankenship, Christie Hendon, Wendy

Kahl, Lindsay Nolen, Emily

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 17, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 23, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

> Blankenship, Christie Hendon, Wendy

Kahl, Lindsay Nolen, Emily XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 11, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Blankenship, Christie	Kahl, Lindsay
Hendon, Wendy	Nolen, Emily

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 10, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Baldin, JenniferPunke, LindsayBrillhart, SarahQuandahl, Erica

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 3, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-0800-1341-535-4)

> Baldin, Jennifer Brillhart, Sarah

Punke, Lindsay

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL ELA BACKWARDS PLANNING ACTIVITIES JANUARY 10, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-531-4)

Crow, Cynthia	2.00 hours	\$71.14
Freeman, Tina	2.00 hours	71.14
Hayes, Stacey	1.00 hours	35.57
Lewis, Danielle	2.00 hours	71.14
Michl, Jamie	1.00 hours	35.57

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS ACTIVITIES NOVEMBER 21, 2023, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4331-1341-534-4)

Hunsley-Hunt, Stephanie	Powell, Robyn
Jackson, Terrelle	Redfield, Alicia
Pochynok, Kelli	

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES JANUARY 10, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-535-4)

Barrett, Caitlin	1.25 hours	\$44.46
Constant, Ashley	1.25 hours	44.46
Craig, Jonathon	1.25 hours	44.46
Crow, Cynthia	1.25 hours	44.46
Freeman, Tina	1.25 hours	44.46
Garman, Jeffrey	1.25 hours	44.46
Horstman, Laura	0.75 hours	26.68
Jimerson, Angela	1.25 hours	44.46
Johnson, Gay	1.25 hours	44.46
Lewis, Danielle	1.25 hours	44.46
Mayfield, Keri	1.25 hours	44.46
Scott, Tyra	1.25 hours	44.46
Westfall, Katrina	1.25 hours	44.46

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES NOVEMBER 30, 2023, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-0900-1341-535-4)

Barrett, Caitlin	Horstman, Laura
Constant, Ashley	Johnson, Gay
Crow, Cynthia	Mayfield, Keri
Freeman, Tina	Scott, Tyra
Garman, Jeffrey	

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL MATH BACKWARDS PLANNING ACTIVITIES JANUARY 8, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-531-4)

Biggs, Brian	1.25 hours	\$44.46
Boarman, Claire	1.50 hours	53.36
Horstman, Laura	1.50 hours	53.36
Kulavic, Tara	1.25 hours	44.46
Rosa, Leslie	1.50 hours	53.36
Scott, Tyra	1.50 hours	53.36

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT PROBLEM SOLVING AND PLANNING ACTIVITIES JANUARY 22, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

Allender, Jennifer	Phillips, Michelle
Blankenship, Autumn	Plummer, Kahla
Bolt, Anna	Welch, Ashley
Impson, Jamie	Zimmers, Layne

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS ACTIVITIES JANUARY 11, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4400-1341-535-4)

> Baker, Roxanne Donaho, Kimberly

Goss, Courtney

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES JANUARY 25, 2024, \$35.57 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$44.46 EACH: (10-2210-4400-1341-531-4)

> Baker, Roxanne Donaho, Kimberly

Fromm, Kelly Goss, Courtney

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING JANUARY 25, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-4100-1341-535-4)

> Barnes, Stacey Blankenship, Autumn Booth, Dione Durr, Tiana Jachino, Rachel

Jones, Tammy Martin, Colleen Schnake, Christine Sheraden, Catherine

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT LITERACY PLANNING ACTIVITIES JANUARY 17, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4600-1341-535-4)

Bryant, Sydney

Floyd, Alaxandria

## XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES NOVEMBER 7 THROUGH JANUARY 18, 2024, \$32.26 PER HOUR, 15.75 HOURS FOR A TOTAL OF \$508.10: (10-3700-0000-1243-531-4)

Schrenk, Nancy

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 10, 2024, \$35.57 PER HOUR: (10-2210-4600-1341-535-4)

Butler, Allory	2.00 hours	\$71.14
Graham, Brianna	2.00 hours	71.14
Jurgens, Mary	2.00 hours	71.14
Patterson, Jami	2.00 hours	71.14
Spencer, Horazina	2.00 hours	71.14
Williams, Alyson	1.00 hours	35.57

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION NEW TEACHER YEAR 1 FORUM 5 JANUARY 11, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0000-1341-564-4)

Baker, Brandon	Koustas, Madison
Behnke, Joshua	Lessen, Kelsey
Biggers, James	Lin, Christine
Borders, Nate	Martin, Bailey
Brinkley, Rita	Mceuen, Molly
Butler, Allory	Miller, Brandon
Cullen, Kristin	Milliman, Kathryn
Daley, Melinda	Mueller, Cassandra
Enlow, Natalie	Raymond, Christopher
Erickson, Carlie	Rivera, Onya
Farthing, Josh	Rothfus, Erin
Foehner, Whitley	Scheffers, James
Galayda, Grace	Schoppenhorst, Debbie
Garrett, Olivia	Sevener, Alayna
Glisson, Alec	Shively, Lydia
Green, Shelby	Smith, Mckenzie
Hawkshaw, Meghan	Sperle, Traci
House, Mikaila	Weitekamp, Crysta
Jackson, Ashton	Yockey, Lucille
Kantor, Kyler	

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ENOS CO-TEACHING AND INCLUSIVE PRACTICES NOVEMBER 1 THROUGH DECEMBER 15, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Holler, Melinda	4.00 hours	\$142.28
Johnson, Kassandra	4.00 hours	142.28
Joyner, Abbie	8.00 hours	284.56

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING JANUARY 18, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-0000-1341-564-4)

Bartolomucci, Dena	Phillips, Suzanne
Hockenyos, Karen	Senger, Kristin
Nelson, Courtney	

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINCOLN MAGNET WEB HOURS AUGUST 15, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-564-4)

Hayes, Latausha	6.50 hours	\$220.22
Mitts, Jodi	6.00 hours	203.28
Moskus, Aliyah	6.00 hours	203.28

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINCOLN MAGNET WEB HOURS AUGUST 16 THROUGH AUGUST 21, 2023, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Hayes, Latausha	8.00 hours	\$284.56
Mitts, Jodi	6.50 hours	231.21
Moskus, Aliyah	6.50 hours	231.21

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL MATH BACKWARDS PLANNING ACTIVITIES JANUARY 30, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3100-1341-531-4)

Gebhardt, Emily	Mayes, Apryl
Jones, Terwanna	Stout, Marsha
Kaitschuk, Angela	

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT ACTIVITIES JANUARY 11, 2024, \$26.78 PER HOUR, 1 HOUR FOR A TOTAL OF \$26.78: (10-2210-4100-1341-535-4)

Green, Ryan

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JANUARY 9, 2024, \$27.65 PER HOUR, 2 HOURS FOR A TOTAL OF \$55.30: (10-2210-4600-1341-535-4)

Mcvey, Kelly

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS ACTIVITIES NOVEMBER 21, 2023, \$19.02 PER HOUR, 1 HOUR FOR A TOTAL OF \$19.02: (10-2210-4331-1341-534-4)

Ahlers, Gaye

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT FRAMEWORK ACTIVITIES JANUARY 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-4100-1341-535-4)

Martin, Colleen

Sheraden, Catherine

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING JANUARY 25, 2024 THROUGH JANUARY 25, 2024, \$26.78 PER HOUR, 1 HOUR FOR A TOTAL OF \$26.78 EACH: (10-2210-4100-1341-535-4)

Green, Ryan

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES JANUARY 8 THROUGH JANUARY 18, 2024, \$35.57 PER HOUR, 17 HOURS FOR A TOTAL OF \$604.69: (10-3700-0000-1243-531-4)

Lamsargis, Kathy